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FOREWORD BY THE MAYOR

Our Service Delivery and Budget Implementation Plan (SDBIP) commits Mohokare
Local Municipality to meeting specific service delivery and budget spending targets
during the 2010 financial year. It is a detailed outline of how we will implement the
objectives set out in our Integrated Development Plan (IDP).

The IDP is agreed upon between local government and residents of Mohokare Local
municipality, and is a plan to guide how we spent our budgets, where and on what. It
is a plan for the entire Mohokare and not just for specific areas.

There are difficult choices that we need to make, for example, we have to match the
amount of rates and tariffs we charge with the level of services needed, and whose
infrastructure is badly in need of maintenance and upgrades.

Our IDP is also guided by the Constitution, which gives specific powers and
responsibilities to local government. We are responsible for providing roads, electricity
distribution, water and sewerage systems, wastewater treatment, traffic safety and
urban planning by-law enforcement.

This division of responsibilities between different spheres of government is important
to understand. Local government cannot address problems in schools, hospitals, or
in the South African Police Services, to give just three examples. These are under the
control of the Provincial Government.

We want to use our services in a way that will make Mohokare more attractive to
investors and skilled workers, and more globally competitive. Investors create jobs,
and help to drive development.

They create more opportunities for everyone, especially the poor and unemployed.
Jobs creation has been identified as a top priority by the people of Mohokare, and so
we must make it our top priority as well.

If we don’t invest now in better services and infrastructure, investment and new
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developments will be constrained, and new opportunities, especially jobs, will not
materialise. For this reason, our SDBIP and our IDP also focus on making our local
government a more efficient organization, with well managed human resources and
enough staff capacity to deliver services in greater quantity and of better quality than

ever before.

Ladies and gentlemen, we have lost our Chief Financial Officer due to a terriffic car
accident. Our deepest condolences to Lekgalanyane’s family. The Lord has a reason
for everything He does, so take it that it was his time to go home. He will always be
remembered and his life will be an ongoing process, be it not by him living it, but by

the way he lived it.
Robala Ka Kgotso Sipho
Matla!!

Approved by the Mayor:




LEGISLATIVE REQUIREMENTS

In terms of the provisions of the Local Government: Municipal Finance Management
Act, 2003, all municipalities should prepare and adopt the SDBIP. Section 1 of the
MFMA describes the SDBIP as a detailed plan approved by the mayor of a municipality
in terms of section 53(1)(c) (ii) for the implementation of the municipality’s service
delivery and execution of its annual budget and which must include (as part of the top
layer) the following;

(a) Projections of each month of —
(i) revenue to be collected, by source and
(ii) operational and capital expenditure, by vote;

(b) Service delivery targets and performance indicators.

REPORTING ON THE SDBIP

This section covers reporting on the SDBIP as a way of linking the SDBIP with the
oversight and monitoring operations of the administration.

A series of reporting requirements are outlined in the MFMA. Both the mayor and the
accounting officer have clear roles to play in preparing and presenting these reports.
The SDBIP provides an excellent basis for generating the reports for which MFMA
outlines very clear outlines. The reports then allow the Councillors of the Mohokare
Local Municipality to monitor the implementation of service delivery programs and
initiatives across the municipality

MONTHLY REPORTING

Section 71 of the MFMA stipulates that reporting on actual revenue targets and
spending against the budget should occur on a monthly basis. This reporting must be
conducted by the accounting officer of a municipality not later than 10 working days,
after the end of each month.

REPORTING MUST INCLUDE THE FOLLOWING:

i. actual revenue, per source;
ii. actual borrowings;

iii. actual expenditure, per vote;



iv. actual capital expenditure, per vote;
v. the amount of any allocations received
If necessary, explanation of the following must be included in the monthly reports:

a. any material variances from the municipality’s projected revenue by source, and
from the municipality’s expenditure projections per vote

b. any material variances from the service delivery and budget implementation
plan and;

c. any remedial or corrective steps taken or to be taken to ensure that the projected
revenue and expenditure remain within the municipalities approved budget.

QUARTERLY REPORTING

Section 52 (d) of the MFMA compels the mayor to submit a report to the council on
the implementation of the budget and the financial state of affairs of the municipality
within 30 days of the end of each quarter. The quarterly performance projections
captured in the SDBIP form the basis for the mayor’s quarterly report.

MID-YEAR REPORTING

Section 72 (1) (a) of the MFMA outlines the requirements for mid year reporting.
The accounting officer is required by the 25th January of each year to assess the
performance of the municipality during the first half of the year taking into account —

(i) the monthly statements referred to in section 71 of the first half of the year

(ii) the municipalities service delivery performance during the first half of the
financial year, and the service delivery targets and performance indicators set in
the service delivery and budget implementation plan;

(iii) the past year’s annual report, and progress on resolving problems identified in
the annual report; and

(iv) the performance of every municipal entity under the sole or shared control of
the municipality, taking into account reports in terms of section 88 from any
such entities.

Based on the outcomes of the mid-year budget and performance assessment report,
an adjustments budget may be tabled if actual revenue or expenditure amounts are

materially different from the projections contained in the budget or the SDBIP.
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The SDBIP is also a living document and may be modified based on the mid-year

performance review. Thus the SDBIP remains a kind of contract that holds the

municipality accountable to the community.

PROCEDURE"S FOR SDBIP REPORTING

a)

b)

©)

d)

e)

f)

g)

h)

Financial Department will provide the Municipal Manager with information as
required under section 71 and 72 of the MFMA and this information will be
submitted to the Mayor by the 10th working day of each month.

The information will show a comparison of actual performance against the
planned income and expenditure included in the SDBIP.

For capital projects, each variance will be highlighted. The Mayor will then
ask the Officials responsible for that project for a written report covering;

The reason for the variance, If necessary, what corrective measures have been
put in place.

Whether the start and finish dates of the capital project need amending.
Whether the project specification will need to be amended.
Revised monthly estimates of expenditure for the project.

The Officials must supply this information within one week of the request to
the Mayor.

Following the receipt of these reports the Mayor will make one of the following
decisions; Note the report of the Officials and keep the project under review.

Request the Official to attend a Performance Review meeting with the Mayor,
Municipal Manager and Chief Financial officer to examine the reasons for the
variation, the potential for bringing the project back on track and the likely
impact on service delivery.

Following this meeting, the Mayor will then decide whether the SDBIP should
be amended.

The financial implications of these suggestions will be assessed by the Chief
Financial Officer and a recommendation made to the Mayor as to which ones
would be possible to proceed with and an adjustments budget prepared.

For operating expenditure and revenue, the Mayor will review the variances
in the monthly budget monitoring report and, notwithstanding the requirements
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for an adjustments budget, request from Officials an explanation of all variances
of the monthly budget forecast.

i) Officials will be asked to explain whether the service delivery targets included
in the SDBIP can still be achieved. The Mayor will then decide whether the
SDBIP should be amended in the light of these explanations.

j) At the end of each quarter, Officials must supply the Municipal Manager with
the actual performance against each of the performance indicator targets.

k) This information must be submitted to the Mayor by the 10th working day
after each quarter along with the budget monitoring information for that
quarter as provided by Finance Department.

NATIONAL TREASURY, CIRCULAR NO.13.

Circular 13 of the National treasury outlines the framework for municipalities to
prepare SDBIP. The SDBIP of Mohokare has been prepared in terms of the provisions
of the Circular 13.

According to Section 53 of the MFMA, the Executive Mayor is expected to approve
the SDBIP within 28 days after the approval of the budget.
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Vote 3: Planning & Development
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Vote 6: Housing
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